



















Lakeshore®

2695 E. Dominguez St. Carson, CA 90895

Phone: 800-421-5354 Fax: 310-632-8314

Legend:

Lakeshore Exclusive Items Shown in Design Layout

COMPLETE CLASSROOM® FOR **EARLY HEAD START TODDLERS -AGES 18-36 MONTHS**

Recommended furnishings and resources for a toddler room. Enrollment of 8. The materials selected for this planner support ITERS and NAEYC standards.

When purchasing this Complete Classroom, complimentary white-glove services are available, including:

- Free shipping
- Unpacking and assembly
- Supervised classroom setup
- Debris removal

White-glove services are valued at 20% of your order, and can be donated in-kind to your program. To view products, go to LakeshoreLearning.com.

ITEM#	DESCRIPTION	EC PAGE	PRICE	QTY	TOTAL	NOTES		
	BLOCK AREA							
LC381	Blue Rectangular Carpet - 6' x 9'	114	\$199.00	1	\$199.00			
AA268	First Steps® Child's View Storage Center	141	\$349.00	1	\$349.00	GREENGUARD® Certified		
FF514	Toddler Hardwood Unit Blocks	154	\$129.00	1	\$129.00			
LL304	Dishwasher-Safe Plastic Basket - Small	118	\$9.99	2	\$19.98			
BC301	Tabletop Hardwood Blocks - Starter Set	27	\$16.99	1	\$16.99			
GB619	Giant Soft Building Blocks	27	\$149.00	1	\$149.00			
LA848	ABC Blocks	156	\$39.99	1	\$39.99			
HH991	Black Soft & Safe Family	154	\$29.99	1	\$29.99			
HH992	White Soft & Safe Family	154	\$29.99	1	\$29.99			
RA362	Soft & Squeezy Wild Animals	58	\$29.99	1	\$29.99			
RA367	Soft & Squeezy Farm Animals	58	\$29.99	1	\$29.99			
EV360X	Magnetic Vehicle Set	158	\$26.99	1	\$26.99			
FF854	Soft & Safe Community Helpers	151	\$34.99	1	\$34.99			

ITEM#	DESCRIPTION	EC PAGE	PRICE	QTY	TOTAL	NOTES
	DR	AMATIC F	PLAY			
AA321	Toddler Dress-Up Center	44	\$279.00	1	\$279.00	GREENGUARD® Certified
JJ520X	Toddler Hardwood Kitchen Set	152	\$429.00	1	\$429.00	
AA517	Toddler-Tough Table & Chairs Set	153	\$249.00	1	\$249.00	
EE558	Lakeshore Hardwood Doll Crib	55	\$89.50	1	\$89.50	
TT788	Doll Bedding Set	55	\$24.99	1	\$24.99	
DD474	Lakeshore Washable Doll - Hispanic	54	\$19.99	1	\$19.99	
DD471	Lakeshore Washable Doll - Black	54	\$19.99	1	\$19.99	
DD472	Lakeshore Washable Doll - White	54	\$19.99	1	\$19.99	
DD473	Lakeshore Washable Doll - Asian	54	\$19.99	1	\$19.99	
LL683	Toddler Firefighter Costume	45	\$29.99	1	\$29.99	
LL685	Toddler Doctor Costume	45	\$29.99	1	\$29.99	
LL687	Toddler Construction Worker Costume	45	\$29.99	1	\$29.99	
LL684	Toddler Mail Carrier Costume	45	\$29.99	1	\$29.99	
LDA178	Indestructible Play Dishes - Service for 4	49	\$19.99	1	\$19.99	
AZ985	Push-Button Play Phone	52	\$12.99	1	\$12.99	
LM365	Best-Buy Play Food Assortment	51	\$49.99	1	\$49.99	
FF704	Feelings & Emotions Washable Dolls	155	\$95.00	1	\$95.00	
HH578	Soft & Safe Pots & Pans	155	\$29.99	1	\$29.99	
FF304	Toddler-Safe Food Basket	155	\$24.99	1	\$24.99	
		MUSIC				
AA392	First Steps® Double-Duty Storage Center	141	\$449.00	1	\$449.00	GREENGUARD® Certified
TT681	Activity Scarves	8	\$16.99	1	\$16.99	
AA788	See-Inside Music Makers - Set of 4	156	\$19.99	1	\$19.99	
TB542	Rainshakers - Set of 4	62	\$29.99	1	\$29.99	
TB317	Toddler Tambourines	158	\$39.99	1	\$39.99	
EB723D	Children of the World CD	64	\$15.99	1	\$15.99	
CE357	Listen & Read Sing-Alongs	64	\$49.99	1	\$49.99	
KM8102D	Singable Songs for the Very Young CD	64	\$14.99	1	\$14.99	
YH8D	Kids in Motion CD	64	\$14.99	1	\$14.99	
EE493	Classroom CD & Single Cassette Player	66	\$189.00	1	\$189.00	

ITEM#	DESCRIPTION	EC PAGE	PRICE	QTY	TOTAL	NOTES		
FINE MOTOR MANIPULATIVES								
DG584	Low 30" x 36" Rectangular Table	70	\$189.00	1	\$189.00			
DG508	7 1/2" Heavy-Duty Stacking Chair	70	\$39.99	4	\$159.96			
AA158	First Steps® Play-Top Storage Center	141	\$349.00	1	\$349.00	GREENGUARD® Certified		
FF188	Big Knob Learning Puzzle Set	160	\$49.99	1	\$49.99			
AA388	Color Discovery Boxes	151	\$59.99	1	\$59.99			
GG487	Shapes Discovery Boxes	151	\$59.99	1	\$59.99			
LA874	Motor Links	156	\$44.99	1	\$44.99			
FF250	Hide & Seek Beehive	156	\$29.99	1	\$29.99			
EE439	Giant Knob First Puzzle Set	160	\$49.99	1	\$49.99			
DD645	My First Pegboard Set	151	\$29.99	1	\$29.99			
TB125	Simple Shapes Puzzle Board	157	\$19.99	1	\$19.99			
FF444	Color Rings Sorting Board	157	\$19.99	1	\$19.99			
JJ434	Sort-A-Shape Activity Board	157	\$19.99	1	\$19.99			
LL774	My First Sorting Bears	161	\$29.99	1	\$29.99			
FB997	No-Fail Lacing Set	157	\$24.99	1	\$24.99			
AA393	Number Discovery Boxes	160	\$49.99	1	\$49.99			
PP437	Fill & Spill Sorting Tubes	150	\$39.99	1	\$39.99			
AA421	Learn to Dress Playboards	161	\$39.99	1	\$39.99			
	GF GF	ROSS MO	ΓOR					
AA268	First Steps® Child's View Storage Center	141	\$349.00	1	\$349.00	GREENGUARD® Certified		
LA245	Lakeshore Play Tunnel	12	\$69.99	1	\$69.99			
HH281	Early Years Ball Toss	159	\$69.99	1	\$69.99			
RA298	Lakeshore 6" Activity Balls - Set of 6	10	\$19.99	1	\$19.99			
AS349	Pull-Along Activity Snail	158	\$29.99	1	\$29.99			
DD384	Soft & Washable Sensory Balls	150	\$29.99	1	\$29.99			
FF597	Giant Pipe Builders	34	\$79.99	1	\$79.99			
DD127	Lakeshore Wrist Ribbons - Set of 12	8	\$19.99	1	\$19.99			
LIBRARY & RELAXATION AREA								
LC451	Gray Rectangular Carpet - 6' x 9'	114	\$199.00	1	\$199.00			
AA692	No-Climb Bookstand	153	\$139.00	1	\$139.00			

ITEM#	DESCRIPTION	EC PAGE	PRICE	QTY	TOTAL	NOTES
AA268	First Steps® Child's View Storage Center	141	\$349.00	1	\$349.00	GREENGUARD® Certified
CF521RD	Giant Comfy Pillow - Red	105	\$69.99	1	\$69.99	
CF521BU	Giant Comfy Pillow - Blue	105	\$69.99	1	\$69.99	
GR290	Classroom-Safe Glider Rocker	142	\$449.00	1	\$449.00	
RE481	Me & My Family Board Book Library	161	\$37.50	1	\$37.50	
RE484	Colors & Shapes Board Book Library	161	\$31.50	1	\$31.50	
RE486	Things That Go Board Book Library	161	\$35.50	1	\$35.50	
RA319	Best Behavior Board Book Collection	162	\$47.50	1	\$47.50	
RA324	Multicultural Board Book Collection	162	\$59.50	1	\$59.50	
RE483	Nursery Rhymes Board Book Library	161	\$25.50	1	\$25.50	
		RT CENT	ER			
AA156	First Steps® Locking Supply Cabinet	141	\$429.00	1	\$429.00	GREENGUARD® Certified
DG584	Low 30" x 36" Rectangular Table	70	\$189.00	1	\$189.00	
DG509	9 1/2" Heavy-Duty Stacking Chair	70	\$45.99	4	\$183.96	
DD219	Toddler Indoor/Outdoor Painting Center for 4	124	\$259.00	1	\$259.00	
LC323	Heavy-Duty Toddler Vinyl Paint Smock - Blue	124	\$6.99	4	\$27.96	
AA342	Washable Fingerpaint - 10-Color Set	122	\$29.50	1	\$29.50	
TA5316	Fingerpaint Paper	128	\$7.99	1	\$7.99	
PX2020	Lakeshore Fully Washable Liquid Tempera Paint - 10-Color Set	122	\$29.50	1	\$29.50	
RA166	Natural-Bristle Paintbrushes - 10-Color Set	127	\$6.99	1	\$6.99	
LA820X	Lakeshore No-Spill Paint Cups - 10-Color Set	127	\$11.99	1	\$11.99	
VX735	Best-Buy Jumbo Crayons - 8-Color Box	130	\$59.99	1	\$59.99	
LA768BU	Set 1 Giant Washable Color Ink Pad - Blue	132	\$5.99	1	\$5.99	
LA768GR	Set 1 Giant Washable Color Ink Pad - Green	132	\$5.99	1	\$5.99	
AX14	Lakeshore Dough - Orange	120	\$8.99	1	\$8.99	
AX4	Lakeshore Dough - Blue	120	\$8.99	1	\$8.99	
AX8	Lakeshore Dough - Green	120	\$8.99	1	\$8.99	
LA532	Lowercase Alphabet Dough Stampers	120	\$24.99	1	\$24.99	
RS4	Best-Buy School Glue - 4 Ounces	134	\$0.99	4	\$3.96	
TA50AC	Construction Paper - 9" x 12" - Assorted Colors	128	\$1.19	5	\$5.95	
TA51AC	Construction Paper - 12" x 18" - Assorted Colors	128	\$2.29	5	\$11.45	

Please note: Our art materials are intended to be used independently by older children. If using these materials with younger children, then adult supervision is required.

ITEM#	DESCRIPTION	EC PAGE	PRICE	QTY	TOTAL	NOTES		
SAND, WATER & SENSORY								
JJ511	Toddler Sand & Water Table	19	\$289.00	1	\$289.00			
TT447	Heavy-Duty Sand Tools Set	19	\$59.99	1	\$59.99			
RE148	Stack & Nest Sensory Toys	158	\$24.99	1	\$24.99			
SCIENCE DISCOVERY								
AA158	First Steps® Play-Top Storage Center	141	\$349.00	1	\$349.00	GREENGUARD® Certified		
DD657	Super-Safe Color Viewers	158	\$19.99	1	\$19.99			
TS429	Touch & Feel Discovery Books	161	\$39.99	1	\$39.99			
LA469	Shatterproof Safety Mirrors - Set of 12	179	\$19.99	1	\$19.99			
	PERSONAL SPACE/CU	JBBIES &	SLEEPIN	IG MA	TERIALS			
AA629	First Steps® Cubbies and Coats Storage Center	141	\$499.00	1	\$499.00	GREENGUARD® Certified		
AA905	Lakeshore Easy-Stack Toddler Cot - Set of 5	144	\$245.00	1	\$245.00			
AA900	Lakeshore Easy-Stack Toddler Cot - Each	144	\$49.99	3	\$149.97			
AA911	Lakeshore Toddler Cot Carrier	144	\$59.99	1	\$59.99			
AA910	Lakeshore Toddler Cot Sheet - Each	144	\$10.99	8	\$87.92			
HH716GR	Super-Soft Fleece Blanket - Each - Green	143	\$12.99	8	\$103.92			
		DIAPERIN	IG					
HH447	Store-It-All Wall Unit	142	\$199.00	1	\$199.00	GREENGUARD® Certified		
HH448	Step On Up! Toddler Changing Table	142	\$799.00	1	\$799.00	GREENGUARD® Certified		
DS491	Extra Changing Paper Roll - 18"	142	\$9.99	4	\$39.96			
LC814	Handy Bags and Dispenser	142	\$69.99	1	\$69.99			
QJ578	Disposable Sanitary Gloves	142	\$3.99	4	\$15.96			
TEACHER RESOURCES								
BR302	Backpatter's Seat	144	\$49.99	2	\$99.98			
RR583	Frog Puppet	61	\$9.99	1	\$9.99			
RR585	Dog Puppet	61	\$9.99	1	\$9.99			
RR586	Bear Puppet	61	\$9.99	1	\$9.99			
PP257	Differing Abilities Poster Pack	172	\$29.99	1	\$29.99			
PP423	All-Purpose Teacher's Apron	244	\$16.99	2	\$33.98			
PP158	Infant/Toddler Photo Library	161	\$39.99	1	\$39.99			

ITEM#	DESCRIPTION	EC PAGE	PRICE	QTY	TOTAL	NOTES
RR748	Hold-A-Ring Walking Rope	13	\$29.99	1	\$29.99	
	Subtota					

The materials found in Teacher Resources are intended for adult use. These materials are not to be used by children under three years of age. Please use with appropriate supervision.

^{**}Please include appropriate sales tax for your area or provide us with your sales tax exempt number.